@ (x= V5)(x- VT7) @ (x- VB)(x+ V7)
® (x+ V35)(x-1) @) (x+ VB)(x + V7)

® (x-V35)(x+1)

‘ 4 (VB4 VT)x+ VB5VT = (x+ V5)(x + V7)
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@ xy(x-y)

13y —xyd = xy(x® - y?) = xy(x +y)(x - y)
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37x (40 + a) = 402 —a® = b
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37 X (40 + a) = 402 — a® = (40 — a)(40 + a)
40-a=37, a=3
b=40% —a% = 40% - 32 = 1591




4. a=1-+34 o,
4

> FE -1+ V3




4x? = (x=4)* = Bx+a) (x +b) B THEd=a, b o) 5t a+ b
o] gk& Fotofet

4x? — (x—4) —{2x—|— -HH{2x-(x-4)}
=Bx-4)(x+4)

a=-4,b=4

La+b=-44+4=0




O x% +ax+6, 3x°* +3x-b 9| &

o] k& afolat,

>

> A a-b=-1

Eo] o
o

A7 x+28 W, a-b

~&B

¥ +ax+6=(x+2)(x+p)
=x>+(p+2)x+2p
p=3
24+ p=a .. a=>5
3x2+3x-b = (x+2)(3x+q)
=32+ (g+6)x+2g
6+g=3, g=-3
2q=-b..b=6
Ta-b=5-6=-1




7. oA 16 - 4x? + 4xy — y? 2 Q1EolstH?

@ @d-x+y)(d-2x+y) @ (4+2x-y)(d—x-y)
® (4-2x+y)4+2x+y) @(4+2x—y)(4—2x+y)

® (A4+2x+y)(4-2x-y)

42 - (2x-y)?=(4+2x-y)(4-2x+y)




8.

X2 —y? +6x-2y+8 & AFHE

a+b+c 9 3= otofet.

3

S (ax+by+c)(x+y+4) & o,

x> —y?+6x—2y+8
=x%+6x—(y>+2y-28)
=x’+6x-(y+4)(y-2)
={x-(-2Hx+ (y+4)}
=x-y+2)(x+y+4)
ca=1, b=-1,¢c=2
“a+b+c=2




9. a-b=129 W, a®2-8a+b%+8b—-2ab+ 16 ] gL FtH?

D 36 @64 ® 49 @ 16 ® 25

~&B

a® —8a+ b*> +8b —2ab + 16
=a?-2ab + b? + —-8a + 8b + 16
= (a-b)>-8(a-b) +16
=(a-b-4)?

= 64




@ W] Zol7k 22t aem , bem Q) BAZNY 2 AU 7HES
E"—}%% . o] F 7t=9 EE]—’] Zo]9] go] 80 cm ©]al ¥ o] x}7}
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@ 5cm @)20cm @ 40cm @ 60cn ® 80cm

4(a+b) =80°1B= a+b=20
a*> = b* = 100912 & (a + b)(a - b) = 100
a-b=>5

4(a-b) =4x5=20




